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AT [A397:

FrTferfed [ @1 aga araar @ gy ik 377 aed @ yrerT Hf :

(i) 39 397-97 4 35 397 & | @4t 397 sfAard & |

(i) TBIH-97 Ui @USI 4 fa9ilsid 8 -a&, @, T, 909 & /

(iti) WUZ & H 97 &I 1 T 18 7% Fglashcdid J#R & Uh-Ueh 3% & Jo7 & /
(iv) @U@ H Y97 G&IT 19 @ 25 T 317 TG-IFIT IR 3 F1-31 371 & F97 & |
(v) TUSTH T G&I7 26 8 30 7% TY-FIT YhR F dH-d1T 3hl & I97 & |
(vi) VS H 97 G&IT 31 TUT 32 FH-3NMEYTRT AR-TR 37Hl & I7 & |

(vii) VS T H Y97 &1 33 E 35 FIH-IRIT IHR & Gie-gier 31l & I & |

(viii) ¥97-99 § GHY [aheq 767 1397 727 8 | TEf4, @8 @ & 2 Yol §, @I T & 2 JoI
H @ g 32 I H Ty @8 & & 2 v § Hdlke faeheq &7 JiaearT a7 =7

&/
(ix) Sepacl BT 39N afsdd & |

©us <h

7 G&T 1 & 18 7% aglashcdid YHR & Uh-U 37 & J97 & | 18x1=18

1. 9gaehi 3R UHI % AR geawH frufor % fau fefafga @ @ sH-

HUETY UIH I Tl B 2
(a) QU0 qid
(b) TeHs ¥ sEIHa

(c) oTSY TS h1 IR STaTAT
(d)  FIUTHR Hl ITIA

2.  3fYer 39T el SR W & 9T AT oh e I Haehl H TS Fgdl
T 89 1 0T 2 -

(a) 3 AHSAE TS
(b) = a™

(c) To= argHs™ g

(d) = A R 3= IgHSAE T g
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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 35 questions. All questions are compulsory.

(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 18 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B - Questions no. 19 to 25 very short answer (VSA) type questions,
carrying 2 marks each.

(v)  In Section C - Questions no. 26 to 30 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D - Questions no. 31 and 32 are case-based questions carrying
4 marks each.

(vii) In Section E — Questions no. 33 to 35 are long answer (LA) type questions
carrying 5 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
2 questions in Section E.

(ix)  Use of calculators is not allowed.

SECTION A

Questions no. 1 to 18 are Multiple Choice (MCQ) type Questions, carrying

1 mark each. 18x1=18

1. The colligative property used for the determination of molar mass of

56/1/1

polymers and proteins is :

(a)  Osmotic pressure

(b)  Depression in freezing point

(c) Relative lowering in vapour pressure
(d)  Elevation is boiling point

Low concentration of oxygen in the blood and tissues of people living at
high altitude is due to :

(a)  high atmospheric pressure

(b)  low temperature

(c) low atmospheric pressure

(d)  both low temperature and high atmospheric pressure

3> B P.T.O.
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3. fy=fafeq sifufsrn & fou & oo femwr 2
Zn + 2Agt — Zn>* + 2Ag
(a) 2Ag| Ag* |l Zn | Zn%*
(b) Agt| Ag |l Zn?* | Zn
(¢ Agl Agtll Zn | Zn?*
(@ Zn | Zn%*" || Agt | Ag

4. U TIq: Jafdd AMfskan o fauw AG 3R Eﬁagﬁ

(a)  YdTcHeh, RUTcHh (b)  ROMcHeh, FUTCH
(¢)  ZRUMMHS, YTcHh (d)  -TcHeh, G-TcHh
5. T=faiRgd & @ si9-91 35 4 Yvifad giar 8 ?
(a) AH b)) AG
© E, d) AS
6. H,(g)+Cly(g) —¥ 5 2HCI (g) % fu stfirfsean #ife §
(a) 2 b)) 1
0 O d 3
7. WIS hi Taiiees AT I T STTRATeRIOT 7L B
(@) +2 (b) +3
(c) +4 d +6
8. A [Co(SO,) (NHy):] Br 3 [Co(Br) (NHj)s] SO, F&Ud d 7 :
(a) a9 GHEIA (b) gt FETEIEAT
(c) A HTAI ] (d) 6“|H6{‘i¢|.\l\ﬂd NEIERE]

9. Ufcshal RISTRISS 1 HYCINY T TB! a8 & ITed fohdll SITaT B
(a) T goTohi 9 (b)  T&TeS fHfshan &
(c) HeHARR Iffshan & (d) Theraeda arfifsear @

10. sifufEa R— OH + HCOl — 2292, Rel + H,0 & tewmsta &1 siifrmfie
1 EaE] HH AT Q ?

(a) 1°<2°<3° b) 1°>8°>2°

(c) 1°>2°>3° d 38>1°>2°
56/1/1 4> mye
&
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10.

56/1/1

The correct cell to represent the following reaction is :

Zn + 2Agt —— Zn%* + 2Ag
(a) 2Ag| Agt |l Zn | Zn%*
(b) Ag* | Agll Zn?* | Zn
¢0 Agl Ag* |l Zn | Zn?*
(@ Zn | Zn% |l Agt | Ag

AG and EZell for a spontaneous reaction will be :

(a)  positive, negative (b)  negative, negative
(c) negative, positive (d)  positive, positive
Which of the following is affected by catalyst ?

(a) AH (b) AG

(¢ E (d) AS

a

The order of the reaction

H, (g) + Cly (g) —™— 2HCI (g) is :

(a) 2 (b) 1

(c) 0 (d) 3

The most common and stable oxidation state of a Lanthanoid is :
(a) + 2 (b) +3

(c) +4 (d) +6

The compounds [Co(SO4) (NHg)s] Br and [Co(Br) (NHj3)5] SO4 represent :

(a)  optical isomerism (b)  linkage isomerism
(c) ionisation isomerism (d)  coordination isomerism
The synthesis of alkyl fluoride is best obtained from :

(a) Free radicals (b) Swartz reaction

(c) Sandmeyer reaction (d) Finkelstein reaction

In the reaction R — OH + HCl — 2292, Rl + H,0, what is the correct

order of reactivity of alcohol ?
(a) 1°<2°<3° b)) 1°>3°>2°
) 1°>2°>3° d 3>1">2°
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11.

12.

13.

14.

Ueshigc! H1edH H NaOH 3R Bry o ®19 CH3CONH,, HfUlsham e <l 3 :
(a) CH3COONa (b) CH3NH,

(c) CH3CH,Br (d CH3CH,NH,

feferfiga 8 @ -5 998 5 g © 2

(@)  (CHy),NH (b)  NH;

(c) @NH2 (@  (CHy),N

T oh UMUCTE 92 H TOhId $ehIsal Wl SIS oh foT¢ AFIeTd TgehidTgs! 99
3

(a) C;-Cg a¥¥ () C,;-Cqz BT
(0 C;-C, a¥¥ d C;-C,puY
- BT TTEHTCHS &I §

(a) TEhIE &I (b) W I

(¢)  UIfIUTCTSST <l d) fFasTeEes &

Uy7 G&IT 15 @ 18 & (70, 31 %97 130 70 § — G79 vk &1 Af9asaT (A) aar
G &1 FROT (R) ZRT Sl 1697 747 & | 37 941 & @g1 I 14 137 7T @&ist
(a), (b), (c) 37 (d) 7 @ gy T |

15.

56/1/1

(a) 3P (A) 3 SR (R) THT T&l & 3 ST (R), AR (A) hI
g ST LT 2 |

(b)  SATTHA (A) 3T HRU (R) THT T &, T RV (R), BT (A) H
& AT FgT Rt g |

(c) AR (A) HEl B, =g R (R) TAd 7 |
d) 3w (A) T4 8, 9 RO (R) TE 7 |

SHFIT (A) : FAGALA fceemaq Atfshaneti # —NH, 8 o- 3R p-Fwh
a1 g |
HRU(R):  UiclA $hisa-shraed AMfha T8 ¢ Hehdll 7 |

<6 >
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11.

12.

13.

14.

CH3CONH; on reaction with NaOH and Bry in alcoholic medium gives :
(a) CH3COONa (b) CH3NH,
(¢c) CH3CHgBr (d) CH3CHyNH,

Which of the following is least basic ?
(a) (CH3)oNH (b)  NH;4

(c) QNH2 (d  (CHg),N

The glycosidic linkage involved in linking the glucose units in amylase
part of starch is :

(a) C;-Cg alinkage (b)  C;-Cg B linkage
(c) C; - C, alinkage (d C;-Cy P linkage
An o-helix is a structural feature of :

(a)  Sucrose (b)  Starch

(c) Polypeptides (d)  Nucleotides

For Questions number 15 to 18, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct

answer to these questions from the codes (a), (b), (c) and (d) as given below.

15.

56/1/1

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

Assertion (A): —NHgy group is o- and p-directing in electrophilic
substitution reactions.

Reason (R):  Aniline cannot undergo Friedel-Crafts reaction.

7> B P.T.O.
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16. 3HI7(A) : U & wEifedd 8 e gfaeenfua Icare s=ar 2 |

HRU(R):  —NHCOCH; §qg I Hfshavl y9TE UHHT &g ¥ 31fere Blal
2 |

17.  37f%97 (A) : AR Hy + Bry — 2HBr § SA((0aehdl 2 Td1d 21l 3 |
HROU(R): 4 8% WAk AWIsha # STRRe! o & U] W Ad 2 |

18.  37¥%e7 (A) : T TRl Iqshaiehd T5Hd el &t ¢d 9 & |
PRU(R):  TTHADT TPHall o (0 JET Hoff hl go1 H foreear &

fargreq ot | Bt © |

Qs @

19. &0 9@ T g 23U Ueh ITIIAN ST | 2

20. (%) < fIgd-eT=eTi ‘A’ 3R ‘B’ &1 AR HH W, ‘A’ A 25 TAT S&dl
8 WEih B 1-5 TAT dgdl 8 | S0 & -1 {Igq-s1uees 9o 8 ?

7 3 1 gfte 3 frw o S | 2

AYAT

(@) 0:05 mol L' NaOH fae & =i w1 forgga gfelier 5:55 x 103 ohm
2| 3HH @ 1 cm U9 AR 50 cm @ | SEeh <Tciehdl hl YiehaH

i | 2

21. Tmfciiea avfieen w1 qut i : 1+1=2
(%) 2MnO, + 5NO, +6H ——

(@) Crzog_ + 14H" + 66~ —>
22. (%) CHg-CH-CHy 295 , 0 2N , g

|
OH

(@) CH,CH,CH,Cl + KOH PRI, 0 HBr |
STh AAThAT | ‘A’ 3R ‘B’ 1 YgETHT | 1+1=2

56/1/1
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16. Assertion (A) : Acetylation of aniline gives a monosubstituted product.
Reason (R):  Activating effect of — NHCOCHjg group is more than that

of amino group.
17.  Assertion (A) : The molecularity of the reaction Hy + Bry —— 2HBr
appears to be 2.

Reason (R): 'Two molecules of the reactants are involved in the given
elementary reaction.

18. Assertion (A) : Low spin tetrahedral complexes are rarely observed.

Reason (R):  Crystal field splitting energy is less than pairing energy
for tetrahedral complexes.

SECTION B
19. What is Henry’s law ? Give one application of it. 2

20. (a) On diluting two electrolytes ‘A’ and ‘B’, the A, of ‘A’ increases

25 times while that of ‘B’ increases by 1-5 times. Which of the two
electrolytes is strong ? Justify your answer graphically. 2

OR

(b) The electrical resistance of a column of 0-05 mol L_1 NaOH solution

of diameter 1 cm and length 50 cm is 5-55 x 10 ohm. Calculate the
conductivity. 2

21. Complete the following equations : 1+1=2
(@)  2MnO, + 5NO, +6H" —
(b)  Cry07 +14H' + 6~ — >

PC]5 N ‘A’ AgCN N cB’

22. (a) CH;-CH-CHj4

|
OH

(b) CH,CH,CH,Cl+ KoH —ethanol . HBr , g
Identify ‘A’ and ‘B’ in the above reactions. 1+1=2

56/1/1 <9 >
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24.

25.

26.

27.

28.

56/1/1

(%) FfaRead o fog sRor T 1+41=2
(i)  Ucohlgia ol qodl § HHIa AT ot 370 gl & |
(i) UcehlgIdl % Faeeh Ufeshd S@AT H SWTH ¢ % 919 9ed 3 |

Jrerat
(@) () T=fdiad sAfufsen i fsranfafy fafeg

CH,CH,0H — ', CH, = CH, + H,0
443K

(i) TR sfvrferan | wfmfad aftertor fafay | 1+1=2

Y9 H AT hIfST 1+1=2
(%) iU Affshan
(@) Afsua dfauss T

(%) Uh TEEHS TR gy, I8 g o T f D-epwE i foga
G | ] ST@e B g |

(@) WA & fmivr & fore fora yohR o1 919 ITRerh BT 8 2 2

Qus T

() TGN oo 3R IS T o wed R feffey |

(@) 846 g¥d | 30 g AT AT TAT g | A¢ 298 K R I A hl aTY T
23-8 mm Hg ?, dI 39 faeta & fou sia1 &1 9y ge uitesfora hifsre | 3

faftfa e seurg fafte v« - 3x1=3
(%) et FerTgs S Nal/UHieq & oy srfufsRa fomar Srar 2 |

(@) 2,4,6-CEATEFARISS T TA-3TqEeH Tohar Srar 2 |

(M)  n-RA FANSS I Ueshiaret KOH % A1 AMTGHRE foham ST 7 |

g fAfefaa U= 8 arg w31 (S8 77) 3x1=3
(%) $HTa & fufshe o1

W) WUAH § 2-AfeiiYT-2-31a

T)  $Hd @ UEE

) IdE ® WUA-1-37a

~ A~~~
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23.

24.

25.

26.

27.

28.

56/1/1

(a) Account for the following : 1+1=2

(i)  Phenol is a stronger acid than an alcohol.
(ii)) The boiling point of alcohols decreases with increase in

branching of alkyl chain.

OR
(b) (1)  Write the mechanism of the following reaction :
+
CH,CH,0H —~ > CH, = CH, + H,0
443 K
(i1)) Write the equation involved in Reimer-Tiemann reaction.  1+1=2
Explain briefly : 1+1=2

(a) Carbylamine reaction
(b)  Gabriel phthalimide synthesis

(a) Write chemical reaction to show that open structure of D-glucose
contains the straight chain.

(b) What type of linkage is responsible for the formation of protein ?

SECTION C

(a) Differentiate between Ideal solution and Non-ideal solution.

(b) 30g of urea is dissolved in 846 g of water. Calculate the vapour
pressure of water for this solution if vapour pressure of pure water
at 298 K is 23-8 mm Hg.

Write main product formed when : 3x1=3

(a) Methyl chloride is treated with Nal/Acetone.
(b) 2,4,6-trinitrochlorobenzene is subjected to hydrolysis.
(c) n-Butyl chloride is treated with alcoholic KOH.

How do you convert the following : (Any three) 3x1=3

(a) Phenol to picric acid

(b)  Propanone to 2-Methylpropan-2-ol
(c)  Phenol to anisole

(d) Propene to Propan-1-ol

<at>
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29. (%) AR HINT A 3x1=3

(i) S~ A H hralfade 9qg Hel e gram ¢ |

(i) Ufceassl 3N hleHl & IEHU o iU AifeTq aTgachse TIh
foran ST 2

(iii) PIEIGIh T, AN GHg hl AHAZTER JARATT T
<8 |

AT

(@) UH wEHH Ak A’ FEH AET C3HgO 2, 573 K T Cu % 919
At s W B’ g1 8 | B’ Biert faerm it stufa @ w2
AfhT I,/ NaOH & @1 Aifieh ‘¢’ o1 diefl 21989 a1 8 | A, B 3R C
grETsTi 1 fme i | 3

30. (%) () dFeE, (ii) UTeE & TA-TIHT o IS FT & ?

(@) W AR AgAd o T8 Tod GeHTcHe 3T T | 2+1=3

Qs Y

AET1eTIGd 97 Sa-TRT 397 & |  H1 TEaeH1ga® 7167 37K 13T 7T J971 & I
3%%? /

31.  AMufRaT o, 3RS T T ATYRNeh! <l HigdTl T AU IcATal ht Higdl Ifg
¥ Hefud g @ | 30 foret e feow W AreafieR 9 % w9 H o e G
T a0 | offEd o | VeRia fehen S wehar & | SAffsean o o TR
9o &1 o 9w Ed 8 | o T w@ AfulsRAT i Hife w1 faRor 9
o S79ran FHER{cTa o HHIRLOT gRT L Tohd B |

56/1/1 12>
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29. (a) Explain why : 3x1=3
(i)  Carboxyl group in benzoic acid is meta directing.

(ii) Sodium bisulphite is used for the purification of aldehydes and

ketones.

(iii) Carboxylic acids do not give characteristic reactions of

carbonyl group.

OR

(b) An organic compound ‘A’, having the molecular formula C3HgO on
treatment with Cu at 573 K, gives ‘B’. ‘B’ does not reduce Fehling’s
solution but gives a yellow precipitate of the compound ‘C’ with

I,/NaOH. Deduce the structures of A, B and C. 3

30. (a) What are the hydrolysis products of (i) Lactose, (ii) Maltose ?

(b) Give the basic structural difference between starch and cellulose. 2+1=3

SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

31. The rate of reaction is concerned with decrease in concentration of
reactants or increase in the concentration of products per unit time. It can
be expressed as instantaneous rate at a particular instant of time and
average rate over a large interval of time. Mathematical representation of
rate of reaction is given by rate law. Rate constant and order of a reaction

can be determined from rate law or its integrated rate equation.

P.T.O.
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32.

56/1/1

()  TEa Affsham 9 <=1 a1 & 2 1

(i) QI e AR AT HTRAT AT G ohl THTfId hd & | 1
(iii) (1) I ohife <t Afufshan o forw stfifsran o =t @ g g 2
(2) I i i HlsRaT 6 AT k i TS 71 3 2 2x1=2
ateran

Gii) (1) Uk MR P + 2Q —— 3Ic4Te o fofuw o = k(P12 [QI1 2 |
SrftrfeRam <hl hife = 2 2

(2) U 3ICTEWT Algd SEH T hife ATRAT i TRITNT HIT | 2x1=2

SYEEEASH el | G1qu g YR hi HAShard, Tefhes 7R T, vefia
HA B | TTAfeR TSR dd STRA gt & 9T SRUMTcHeh PTG A=Al g
Tgse Bl § | T et aF-3meT Bt § 3R ThIhl s g™
Ik ICHH YT RUMcHS AT g HW Bidl @ | T1eIfieh FAISepary TfeRien
BIt & STefeh Tgaiiaeh HAISohaTd Hehel ohl STTehfd fH4iid el @ |

(i) IR PtCly . 2NHg, AgNOg o H1 AMGRAT T8 hal &, al 591

AT gA ? 1
(i)  [Co(en)g]3* & Tgclterh HATSRAT 1 & ? 1
(iii) (1) SAEEII)zFEREHSRE(I) % ¥ fafau |
(2)  [Co(NHj)sCl] Cly o1 3184 . f.u.Hl. a5 feifn | 2x1=2
HAYAT
(i)  [Ni(CN)]?" ol Gehtol Ud Fraehiy =g faaflgu | 2

[T T : Ni = 28]
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32.
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(i) What is average rate of reaction ? 1
(ii) Write two factors that affect the rate of reaction. 1
(iii) (1) What happens to rate of reaction for zero order reaction ?
(2) What is the unit of k for zero order reaction ? 2x1=2
OR

(1i1)) (1) For areaction P + 2Q —— Products
Rate = k[P]V2 [Q]1. What is the order of the reaction ?

(2) Define pseudo first order reaction with an example. 2x1=2

In coordination compounds, metals show two types of linkages, primary
and secondary. Primary valencies are ionisable and are satisfied by
negatively charged ions. Secondary valencies are non-ionisable and are
satisfied by neutral or negative ions having lone pair of electrons. Primary
valencies are non-directional while secondary valencies decide the shape

of the complexes.

(1) If PtCly . 2NHg does not react with AgNOg, what will be its

formula ? 1

(ii1) What is the secondary valency of [Co(en)3]3+ ? 1

(iii) (1) Write the formula of Iron(IIl)hexacyanidoferrate(II).

(2)  Write the IUPAC name of [Co(NH3)5Cl] Cls. 2x1=2
OR
(ii1)) Write the hybridization and magnetic behaviour of [Ni(CN)4J - 2

[Atomic number : Ni = 28]

P.T.O.
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Qs &

33. (%) (1) A & Toad AWEA H HleSHw =m fafgw | wesn
o % ogER WEHits oma il dmia HieR Areehdl o fog

e @ |
i) 298 K W & ¢ afufpn & fou sifteean s 3t log K,

gftesfera hifsT

Ni (s) + 2Ag* (aq) = Ni?" (aq) + 2Ag (s)

fem e 2 E 2+, == 025V, EAg+/Ag:+0~80V

1 F =96500 C mol ™ 2+3=5
HAAT

@) () %2 % fagg-sruee &1 yem fom fafgw | 19 Cu2t + Cu
T IR & & ft $Ug & el § fohan AEW Ao

B ?
(i) 298 K W fmfdfgd @@ &1 fogd-aes §a (emf) TRehica
SIS
Mg (s) | Mg2* (0-1 M) || Cu?* (001 M) | Cu (s)
(B =+271V, 1F=96500C mol ™!, log 10 = 1] 2+3=5
34. F=foiRaa v & foe s difsw 5x1=5
(i) Ghuv dwal skt 3d Foft B B WS +7 h I=aH ATFEHIRWT e
Tef¥ia & 8 |
(i) ThAU G TR ITeh AMh YA AUGRIRT H AHRIG: 3T
3CHH B B |
(iii) Cr2* JY=Ih Yhid 1 g ik T d-Hafeh =™ (d4) 1 Mn3+ TH
JATFITRI 2 |

(iv)  Zn < A Tedt AT gt 7 |
(v) e faera 8 Cut S/mit 8T ® |

56/1/1
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SECTION E

33. (a) () State Kohlrausch’s law of independent migration of ions.
Write an expression for the limiting molar conductivity of

acetic acid according to Kohlrausch’s law.
(ii) Calculate the maximum work and log K. for the given

reaction at 298 K :

Ni (s) + 2Ag* (aq) = Ni?" (aq) + 2Ag (s)

Given : ENi2+ N T 025V, EAg+/Ag =+080V
1F =96500 C mol ™ 2+3=5
OR

(b) (1) State Faraday’s first law of electrolysis. How much charge, in
terms of Faraday, is required for the reduction of 1 mol Cu?*
to Cu?

(i1)) Calculate emf of the following cell at 298 K for
Mg (s) | Mg2+ (0-1 M) || Cu* (0-01 M) |Cu (s)
[EZell =+271V, 1F=96500C mol_l, log 10 = 1] 2+3=5

34. Assign reason for each of the following : 5x1=5

(i) Manganese exhibits the highest oxidation state of +7 among the 3d

series of transition elements.

(ii) Transition metals and their compounds are generally found to be

good catalysts in chemical reactions.

(iii) Cr2* is reducing in nature while with the same d-orbital

configuration (%) Mn3* is an oxidising agent.
(iv) Zn has lowest enthalpy of atomization.

(v) Cutis unstable in an aqueous solution.
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35.
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G)  Tafafegd sa=aen s grae hif
(1) TS ¥ 2-2-54-1-3TA
(2) TUATSSh 3TFA ¥ 2-FATUYIUAIgh 3T

(i)  CzHpo HYHS AT Th UoehH ATAI-3UA § g1 AR B’
3R ‘¢’ 1 THwr Tar B | A B oHTenss Wiemt wiar ar §
N I, 991 NaOH faera & @y off Afufsran aar & | Affe €

Hfem faerm whemr 78 gar ofera e fffa e 7 |
AT A%, B’ 3R C’ ! Tg=TY | 2+3=5
AT
()  39gH TEEES wen g faug FHife
(1) CH3COCH,CHj 3R CH3CH,CH,CHO
(2) TS SN UYHTh I
(i) UHIEH % 3Aifeaw sl F=qT aray |

(ili) A ¥ Dl TgaTHT | 2+1+2=5
CHACOOH PCls , o _Hp/Pd-BaSO4 p ()CHy/MgBr
(>i1) H3O+
J/LiAIH4
D
2
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(a)

(b)

(i)  Carry out the following conversions :

(1) Ethanal to But-2-en-1-al

(2) Propanoic acid to 2-chloropropanoic acid

(ii)) An alkene with molecular formula C5H;, on ozonolysis gives

a mixture of two compounds ‘B’ and ‘C’. Compound ‘B’ gives

positive Fehling test and also reacts with iodine and NaOH

solution. Compound ‘C’ does not give Fehling solution test but

forms iodoform. Identify the compounds ‘A’, ‘B’ and ‘C’. 243=5
OR

(i)  Distinguish with a suitable chemical test :
(1) CH3COCH,CHg and CH3CH,CH5CHO
(2) Ethanal and Ethanoic acid

(11) Write the structure of oxime of acetone.

(iii) Identify A to D. 9414925
CH,COOH —PCl5 , o _ Ha/Pd-BaSO4 g E;))(;Pz?)ngBr o
J/LiAlH4
D
=0
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